LROB, _16-([T
M = /0'59/ 9:9\50) L = ("ZUM) HuD 9() 47 ) 8)(

KWEMATICE

= C_?:f + Uy,
Q= (4%, Ga=(-2)J
&7 B4 = Lo Z ("%\ 9) L ¥ (- 6'059>f'

(6@4 = (C[,OL + ( LK?N@)L + ( L&CM@)\/
X - DIRECTON ¢ e
0= Qu=LdAdD = Ga=LdWE
= WRECTON R
~Qg = -LdcosH = \C?B—Loiwf@\

ACCELELATIOS 0§ m;s/ G E
Ae = Un + ey K
Uesa

R = ] Emo)t ¢ Caso)] ]
s = (LOHA)@%/ 4 ( )0([( 5;\)8>L +( (%5){]

';@57 (fgémél)b +( ULC()§9>4

s




PLOB, 6 —{]7 codT.
KeTics

L
= :LCG’JE}'

5
=409 = i
— . y
/"-‘1 | L By
W, = k

ZHe = Z(Me)es )

Ay (5 56) + B (5690) =~ T = - G mi"

2 Fy = My fo ma;ﬁ - m( )Mo@

Zh =magt Ap-ms -———1/!4027 = -1 ( 5 )okcosD

ZAYF- e - m(jjotcﬁfQ

-[ M9 ~m(E)heoso] (5 os6) + [n(5) k][5 16)
= - S ML

~(£) o3 + (5] ok osO +(5) o 50 = - & &

~S(5)050 + ()b = - 5 &

EW(B)k= 3(£) 0

(5)d = 5(%)cos0




ROP. =([7 T

_ 22058 _ 3(%‘5('“’%)@5 25° T —

AL 22
A= (!0“" 451 52) - (m“ L27) i ;“*D o5 25°
l/jlk{ 37,66 ]’“\
By = (10K9)(~L)( W) 4025 Lz% (7“--+\




